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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be
attempted choosing at least ONE question from each section. v L

The number of marks carried by a question /part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the
authorized one.

Wherever any assumptions are made for answering a question, they must be clearly
indicated.

Diagrams/Figures, wherever required, shall be drawn in the space provided for answering
the question itself.

Unless otherwise mentioned, symbols and notations carry their usual standard meanings.
Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left
blank in the Question-cum-Answer (QCA) Booklet must be clearly struck off.
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©Ug A
SECTION A

QL (2 A1t T o @iy sER Wit & seftaa = % AC, DE 3k GH st
Fai =t fgffa Hifv .

5 kN 10 kN 10 kN 10 kN 5 kN

Al 2m CV 2 m vD 2m VG 2 m lH

2m
B E o
Determine the forces in members AC, DE and GH of the truss loaded
and supported as shown in the figure below : 10
5 kN 10 kN 10 kN 10 kN 5 kN

AL 2m Cy 2m . ¢yD 2m G 2m lH

B E F

(b) 160mmaal§3ﬁl400mmﬂﬁqﬁ?§2ﬁ®tﬁ-9ﬁaﬁﬁwmw
I U 8 m H W faegfi Wk 5 kN/m % veheHe fafa wr, Rl
UL T IOAT WR WA &, I ST JGH H o 90 fomm m & | o =,
200 kN % & & 969 0 a1 3N 96 & qd F 100 mm ST Erq Heft
Fud g Id-gfdafera fomm mm 2 |
a1 feredfa o wea § wftede w il wd a9 % dqaii W afomd ke
Fetfa Hifsw |

A prestressed concrete beam of section 160 mm wide by 400 mm deep is
used over an effective span of 8 m to support a uniformly distributed
load of 5 kN/m which includes the self-weight of the beam. The beam is
prestressed by a straight cable carrying a force of 200 kN and located at

100 mm above the bottom of the beam.

Determine the resultant stresses at the centre of the span sections at

top and bottom fibres of the beam. 10
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© TUF 12 mm B Fhe W B ThH @ (ME.TE.GAHL 400) H ESE iR
SeEd STl T | T % i & 250 mm T T drd 200 kN & HEATER
waﬁaﬁaﬂﬁ%m,ﬁs@zé@wmm,éﬁﬁ%%{qsﬁgaﬁ
ifiypeq HIRAT | 3ETd &1 I E 250 § | RN afesn 7H i | 90
qeret o1 = gfded, £, = 410 MPa & |
A bracket plate of thickness 12 mm is connected perpendicular to the
flange of a column (ISMB 400). Design a connection for the bracket
using the fillet weld to carry a vertical load of 200 kN acting at 250 mm

from the face of the column. The grade of steel is E 250. Assume shop
welding. Take ultimate stress of weld material, f,, = 410 MPa.

) @ = wEae gt % o9 % 25 mm W TIF HI FEEE g w0 T R | g8
¥ f= 05 m/s B TA W 0-75 m? Skl I Th FEH qA wie Hl
foepfifa & % fow fopem so1 it sravaeRar gl
() afE T8 wie Ml geat § FuM gl W T 8,

(i) af2 T Th 753 ¥ 10 mm FT g WR ?
frorardie <1 TTfe TIHAT = 0785 N-s/m?2 &Y |

A space 25 mm wide between two large plane surfaces is filled with
glycerine. What force is required to drag a very thin plate 0-75 m?2 in
area between the surfaces at a speed of 0-5 m/s :

(i) if this plate remains equidistant from the two surfaces,

(ii) ifit is at a distance of 10 mm from one of the surfaces ?

Take dynamic viscosity of glycerine u = 0-785 N-s/m2.

(e) @qawéamaqﬁw,aaﬁ@agﬁﬁ@aw,mnéqmaﬁ
Srett 3 52 % STa 1 WTIeR, fRAT TR | g (FW) W 9R 895 g, fog
3R 426 cm3 91 | T & 915 Ffagel 1 W 779 g o1 | 376 9T H | 400 g
w WIvE 1§ a1t srEEd T § el M8 R 276 cm3 TRIGH B | 36t 400 g
T 212 cm3 % A qF A HA FRa1 TE FeT T | &F TG HI AR
g Fuffa Hifv |

e - Sl 1 e T, Gy = 2-70 3 T H THH WR, Yy = 9-81 KN/m?,
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Q2.

(a)

(b)

A field density test of a soil was performed by digging a small hole in the
soil, weighing the extracted soil and measuring the volume of the hole.
The soil (moist) weighed 895 g, the volume of the hole was 426 cm5.
After drying the sample weighed 779 g. From the dried soil, 400 g was
poured into a vessel in a very loose state which occupied a volume of
276 cm3. The same 400 g was then vibrated and tamped to a volume of
212 cm3. Determine the relative density of the field soil.
Given : Specific gravity of solids, Gy = 2:70 and unit weight of water,
Y = 9-81 kN/m3.
el & fafYr 1 SwEm o, e o A ol T uwm F R B W
aurard AR fagm s Hife | fog B s = R

A

B
C

1. X A = fi L |
s Pl Sl

Using moment area method, find the slopes and deflection at ‘B’ for the

"

beam shown in the figure below. Point ‘B’ is a hinge.
w
B

D
A C

oL Ly L

250 mm x 400 mm 3HTHTY % T STRAATHR Jsifeld Hshle TTEY T IYINT Teh
700 kN % =RH &l WR I Faftad & * o0 fhan simr & | oy 6
Il T 32 m R | R gHl R W el § v w9 @ seg @
3R T o W el fife &

M 25 US % Hshie 3N Fe 415 TA.9E.0H.3. el & IT9T o0 Try o
SUYh SaoHl H tfieheu I | yeem faeaor o wifae | dmig sEwer
fafer =1 S il |

A rectangular reinforced concrete column of size 250 mm x 400 mm is
used to support an ultimate axial load of 700 kN. The column has an
unsupported length of 3:2 m. The column is effectively held in position at
both ends and restrained against rotation at one end.

Design suitable reinforcements in the column using M 25 grade of
concrete and Fe 415 HYSD bars. Also draw the reinforcement details.
Use limit state method.
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Q3.

(c)

(a)

100 litres/sec 1 TH YaTE, 0-60 m Sl 3N THEST T JaUrdl dredl Teh-

ST ST STt (Fed) o vafed it 2 | afg = fears (0)
56 %, @ 0-30 m I JATE I TEE F THAAH TAE & T qA JIUT H
fyufor AT | SR (F3-9) 3 garg i g i F1q H |

A flow of 100 litres/sec flows down in a rectangular laboratory flume of
width 060 m and having adjustable bottom slope. If Chezy’s constant
(C) is 56, determine the bottom slope for uniform flow with a depth of
flow 0-30 m. Also find the conveyance and state the flow.

= w1 o, f orgame srewen #, fw U @@ W@ % @ W TH 30 mm HIE
yferer et % fore g o wom % way 1 et o R |

faffa Hifve .
() wfaest % fog g oM (Cy) |

(i) 3 gRIw ga % 75% TIH & U AEvEs W, I qEET 9ATE
IaEYT ® F8 2 m A Bl |

(iii) TSl TUATE T H GuAA <l & 9 % forw vevEs W |
B [ [
T=£U2 U < 60%

T = (=) 0933 logyo (1 - U) - 0:085 U > 60%

10
A\

20

Q‘\ 30

\\\\ 40
N

50

70

90
a " 100

1:16 g ———

Q. kg §T kY8 7 8 -9

VEE ({fire)
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(b)

The figure below represents time and consolidation relationship
for a clay sample 30 mm thick subjected to a given pressure range under
double drainage condition.

Determine :

(1)  The coefficient of consolidation (Cy) for the sample.

(i) The time required for 75% consolidation of the same clay soil, if it
were 2 m thick with similar drainage condition.

(iii) The time required for same degree of consolidation with single
drainage condition.

Given :
T = gUZ U < 60%

T =(-) 0933 log19(1-U)-0-085 U >60%

0
J 10
N
N\ 20
. =
N 0 £
\\ o
< 40"
o
E 50 g
o] o
= e 60 ©
0 P i
«——1:15b —> e 2
80 B
A,
90
~ ) \
N a 100
= 1-15a ———
A R Ry Bty Al e e e

VTime (\min)

T Thel il 18 T2 ISA 80 x 80 x 10 F1 ITANT 80 kN % &aT WR F' T57
%A & fore foman smam 2 | fowr geiet it s=mier g 2 m R | R Haga @
QI SIe2l GRT ST TR R | $9 WK Y 98 B % o aRede 6 gatear 6
Sre HIfST |

S0 1 U E 250 B | Hiwid e fafy w1 3w Sifv |

IS 800 : 2007 HIE % AR ‘F=ei’ EGAT * fou K; = 0-2, Ky = 0-35 31
K3 = 20 ST |
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(c)

ISA 80 x 80 x 10 & TUI
A = 1500 mm?
ry =241 mm
r, =241 mm
I'yy = 904 mm
I'yy = 15°5 mm

A single angle strut ISA 80 x 80 x 10 is used to carry a service load of
80 kN. The centre to centre distance between the end connections is 2 m.
The end connection is done by two bolts. Check the adequacy of the
section to carry this load.
The grade of steel is E 250. Use limit state method.
Take K; = 02, Ky = 0-35 and K3 = 20 for ‘fixed’ fixity as per code
IS 800 : 2007.
Properties of ISA 80 x 80 x 10

A = 1500 mm?

Iy = 241 mm

r, =241 mm

I'yy = 30-4 mm

I'yy = 155 mm

1 m 3R 1-5 m % 3iaig 3it frfa s aren b JeER Yo @ i w
95 m/s % AT W Tl T FRERT FAT § | TaTd T H FA A 6 m AN
a9 6l 12 m dEE o § g ® | 3fe aEedE g S 6
10-3 m & 3 var@ 7 # €U ¥ HRU el g, T4 b FFH 9
ZrEr=aT % 0-20 THT % e 7, @ F iy«

(i) A W =l

(i) ST T I &

A conical draft tube having inlet and outlet diameters 1 m and 15 m
discharges water at outlet with a velocity of 2:5 m/s. The total length of
the draft tube is 6 m and 1-2 m of the length of draft tube is immersed in
water. If the atmospheric pressure head is 10-3 m of water and loss of
head due to friction in the draft tube is equal to 0-20 times the velocity
head at outlet of the tube, find :

(i) Pressure head at inlet

(ii) Efficiency of draft tube
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Q4. (a) %ﬁmmmmwﬁm%m,ﬁwﬁ%mm
7 feepan a4 s 1 Faffa Hifve |
T ;A W 3G WA | 9 G & A F 3 5o § |

Y

|< 6TA4mMT =24 m

125 kN 100 kN 50 kN

Determine the maximum tensile force in member DI of the truss shown
below due to the series of three moving loads shown in the figure.
Support : Hinge at ‘A’ and Roller at ‘G’. Loads move from G to A. 15

A

6 panels at4 m =24 m >

125 kN 100 kN 50 kN
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(b)

(c)

TR 0-10 m @ T & FHATR wiel & = 15 m/s % AferHH T H q
&1 T TETE Bl 2 |

foregor wfy et ier, Rl W sTgET gfiee, WER 20 m L & fagH ®
21 § 3=, Widl T 3T auand 3R Wi | 0-02 m W AT I GREHe i |
el 1 AT 2-453 N-s/m? ®I(C |

Two parallel plates kept 0-10 m apart have laminar flow of oil between
them with a maximum velocity of 1-5 m/s.

Calculate the discharge per metre width, the shear stress at the plates,
the difference in pressﬁre between two points 20 m apart, the velocity
gradients at the plates and velocity at 0:02 m from the plate.

Take viscosity of oil to be 2:453 N-s/m2.

fog § ewté 78 wfiunes fuft % wafica i St Soe ITH, @90 ghiy 3R
U 7T g % faeg I | wfdumes fafe 1 whe W, v = 17-5 kN/m?
3fi 3riafiss Tur H, ¢ = 35° ATl SO T % Teh &Y H STeAfFd BT
2 | 3uR T N 0-5 B | MU g % U ST ga1 9™ 150 kPa @ |
fiuft w wFa ga1 g & uiehen % fau e fagr w1 swEm AT
3R yem i A @ ufeErdt g i 3ue Hif |

Yad : Shshle 1 Tehdh W, y, = 24 kN/m?.

el Y
HUHT g8

y = 17-5 kN/m3

0 =35 6 m
C=0
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Investigate the stability against overturning, sliding resistance and
foundation soil pressure of the retaining wall shown in the figure. The
retaining wall is to support a deposit of granular soil which has unit
weight, y = 17-5 kN/m3 and angle of internal frietion, ¢ = 35° The
coefficient of base friction is 0-5. Allowable soil pressure for the
foundation soil is 150 kPa. Use Rankine’s theory to calculate the active
earth pressure on the wall and neglect passive pressure from the toe
side.

Given : Unit weight of concrete, Yo = 24 kN/m3.

Granular
backfill

¥ =17-5 kN/m3
0=35"  6m
C=0
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SECTION B

Q5. (a) 1000 N ¥R 3f 18 cm Freen arenl U AR AqF, she b Th g g
T & ol @ w41 o gutw R | 98 PN, P W &= 2 3R
67 cm @&t S MN 2 S¢ft & | MN # =[a" ard 3cq9 HH & o, geris
T grEEEen % fou, 20 % uH w fuifa i )

aqaft Gk Tagl i Fe 7 S | R & 1 E o J1d i |

A circular log of weight 1000 N and radius 18 cm is supported by a pair
of brackets, one of which is shown in the figure below. Bar PN is hinged
at ‘P’ and held by a string MN 67 c¢m long. To induce minimum tension
at MN, determine the value of 26, as shown for equilibrium.

Consider all contact surfaces smooth. Also find the value of minimum

tension.
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(b)  fot & 2o 7 o % st Ry w1 Rufor iR | daig s Ry

ST 39T hifSrT |
k—— 1000 mm >
_____ -
100 mm
_____ ;{_
400 mm
25 ¢ H 4 TS
S e ) i
300 mm I

M 20 U8 ! Fhle 3N Fe 415 Ta.918.10. 9. o2 ofifiw |

Determine the moment of resistance of the T-beam as shown in the
figure. Use limit state method, 10

fe—— 1000 mm |

400 mm

4 nos 25 ¢ bar
5OE§ __________________ L

| 3

00 mm

Take M 20 grade of concrete and Fe 415 HYSD bars.
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(© o3 1 eoie oER smeg-f 38 ABCD i wwurefa @uel 8 s @ | 3
@UEi AB 3t CD &1 STE-af=se &hel 800 mm? 3R =1E 300 mm
3 | qex @S I ITEY-IRESE 8Fhe 1200 mm?2 3 TFETE 500 mm B |
& AR P = 285 kN 37 P = 20 kN ot # ife, s1qem g & ot & | 4
i E |t i @vel % foe aue 2 |
(i) g et W ufafsean st o Fafor Hifw |
(i) wew @ve ¥ Hited efE 9a o frafern Hifaw |

A D
A B C
/ N
/ N
4. Tl b
/ N
/ N
/ N
L 300 mm 500 mm % 300 mm
P 5 34 b i |

The fixed-end bar ABCD consists of three prismatic segments as shown
in the figure. The end segments AB and CD have cross-sectional area
800 mm?2 and length 300 mm. The middle segment has cross-sectional
area 1200 mm? and length 500 mm. Two axial loads Pg = 28-5 kN and
Pc = 20 kN are acting in the bar as shown in the figure. Young modulus
E is same for all three segments.

(i) Determine the reaction forces at fixed supports.

(ii) Determine the compressive axial force in the middle segment. 10
A D
y B C N
/ N
/ N
/ Pg— <« P \
/ N
/ N
A N

., 300mm 500 mm . 300 mm
- e e 7
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Q6.

(d)

(e)

(a)

Uh JaR AT, Teh YA § GHE T W, TF 150 mm SAE I 9T §
T 0-10 m¥s % e & fAT 100 kN/m? 1 2@ w1 341 2 | At B 99
ATET R ARG sk SAifireiaa: smey fest 1 wheo 600 mm =9 6T 9139 I
ﬁmm%,ﬁ%ﬁﬁﬁﬁwwﬁmmwﬁmﬁml

A flow meter when tested in a laboratory gives a pressure drop of
100 kN/m? for a discharge of 0-10 m3/s in a 150 mm diameter pipe. If a
geometrically similar model is tested in 600 mm diameter pipe at
identical conditions of fluid, determine the corresponding discharge and

pressure drop in the model.

Uh Y GEoeH g, R ofiafe wdu s 350 2, % whied w s
Frorefier wheror o smar 2 | forererh wfesret (Ac) 3R 3= e wfree (o))
% fobt Wl o whieron fest sin g, af fe e s (o) 105 kPa 2 2

A sample of dry cohesionless soil whose angle of internal friction is 35°,
is subjected to a triaxial test. If the minor principal stress (o3) is
105 kPa, at what values of deviator stress (Ac) and major principal

stress (01) will the test specimen fail ?

U TGS I AR G % A1 SR SHT HT T 1 Gohal £ | 59
TS 55 m AR AW 6:0 m T gY AR T07 B IR FE F R0 379995
aqet Wi 1 Fafor Hifve, afe 37 200C F T 9@ F 80 m/s F 3T W
e T B | 20°C W TG Sl H1 FETH T 1030 kg/m3 3R 20°C W

TG e W YGfh FHAT 1 x 10-6 m2/s ofifdre |

A submarine can be assumed to have cylindrical shape with rounded
nose. Assuming its length to be 55 m and diameter 6-0 m, determine the
total power required to overcome boundary friction if it propels at the
velocity of 8:0 m/s in sea water at 20°C. Take mass density of sea water
at 20°C as 1030 kg/m3 and kinematic viscosity of sea water at 20°C as
1x 1076 m%/s.

HXS-U-CVLE 14
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b = o & guiE 7 e % foe
() 3w gfafseanett 6t o HifSg
Gi) @l § fiffe wE fagedl W smET Fw@ (V) SR a el (M) %

At =i fafem |

x| A4 8B |C|D|E|F
\%

M

(ifi) TT% o T 3T Hd gU STEIV T IRG (TH.UH.€L.) T |
(iv) W% <1 gafa $FTd s gU s sl s (. ) SR |
w@.UF.E. R .l % fo foe wfeat ey E

+V +M
25 kN/m 50 kN 40 kN
e l l
A B (eC eD of oF |
M g00kNm o
05m,  Im 2m . 15m  _,05m05m,
g i 54 S

For the beam shown in the figure below
(i) Compute the support reactions.

(ii) Write the shear force (V) and bending moment (M) value(s) at
salient points as indicated in the table.

x A B C D E F
A%
M

(ii) Draw the shear force diagram (SFD) indicating the nature of
graph.
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(iv) Draw the bending momént diagram (BMD) indicating the nature of
graph.
Sign conventions for SFD and BMD are as follows :

+V +M
25 kN/m 50 kN 40 kN
,, / l l
A B (eC D oF oF |
s ~ 300 kN-m ;é;
L0-5 o olm 2m 2o 15m  ,05m,05m,
o o B2 bl W iy bl 1 4

(c) U IAATHR YGIA(Eed & H1 AT 300 mm x 500 mm (991 7% i
2 | o et fogf 5 m R | 8 W 64 kN/m %1 T A WK @ 2 |
M 20 78 shie 3R Fe 415 IS TEA 1 ST Fd BY LR BT 37Mhedd
HITC | 9Tl A 40 mm IR A e w areh fufy ) e
250 mm T | e F giowa w1 A= fw sl 9% & e
fora S wepan 2 | srfirerewm i dhimia sraeen faf =1 swE Hifv |

f,

Y A et vy y
il

ot P fy/1-15

080 fyd — — — —— —

!
:

S E, = 200000 N/mm?

/ ]

s 1
" 0-002 0-004
0-0001—T_T L
0-0003 0-001 0-003 fapfd —
0-0007 —

raw Afufsela foefia o & fore sfveer-fosfa o
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Q7.

(a)

Size of a rectangular simply supported beam is restricted to
300 mm x 500 mm (overall). The effective span of the beam is 5 m. The
beam is subjected to an imposed load of 64 kN/m. Design the beam using
M 20 grade of concrete and Fe 415 grade of steel. Take effective cover as
40 mm and width of supporting wall as 250 mm. The stress in the
reinforcement can be derived from the stress-strain curve given below.

Use limit state method of design.
A RO s L Ol f,
OB = i RS e } y
A =
L8 et a - e 1
ey ¢ sk o £,/1-15
080ff — = = === ] ]
11 1 /
Ll /
e ; !
R ! ]
el 1
/] Pl SR /
Lzl /
Lk ) !
Py 1
I it/ 1 1
11 Il ] !
n 1 1 !
w0 -1 Ly !
d by !
H B AT h
wn JeEvly 1
N /I ! ! 9
1
e - E, = 200000 N/mm
b By 1
% ey L /
ol Ay 1
i | !
L T R 7}
iy /
il I
LIy /i |

4 1
oomIat] T E o L o
0-0003 0-001 0-003 Strain —»
0-0007 ——

Stress-Strain Curve for Cold Worked Deformed Bar

T WA W G T a1 hl qEPft 12:0 m A WA | S 2 REen Ik
T W, vy = 17-2 kN/m3, Gg = 27 3R ¢ = 35° B | TIphh o A &R
Ydd | 2:5 m A9 B | 9H fif fh W o 99 @ ST 981 T 7 3R I«
T Teheh MR, 7y, = 9-81 kN/m3 2 | 1] 1 W o HeA § &fasl aa W a1
JTEqUT g w1 fgier i |

The subsoil at a site consists of a 12:0 m thick homogeneous layer of
dense sand having dry unit weight, y; = 17-2 kN/m3, Gg = 2:7 and
¢ = 35°. The natural ground water level lies at 2:5 m below the ground
surface. Assume that the soil is dry above the water table and unit
weight of water, v, = 9-81 kN/m3. Determine the shear strength of the
soil along a horizontal plane through the middle of the sand layer.

HXS-U-CVLE 1
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(b) TH 2m x 2 m FHl FHR 9IE ! Odel ¥ 1-8 m F1= T@T T ? | W9 el &R
i 7 W R | S TH, TEHEG a1 h UH ThawH (@Y & oA R | g@ &
TSI qieqor gitony fe yer # -

AT THOT ST, ¢ = 21°
gosH, C = 15 kPa
el 1 Teheh MR, y = 16-5 kN/m3

g3 R 1 i i {58 geean ok 3 % @y afer g w Aft
ST & | :

Gl

¢ Ne Ng Ny
10 8-34 2:47 0-37
12 9-28 2:97 0-60
14 10-37 3:59 0-92
16 11-63 4-34 1-37
18 13-10 5:26 2:00
20 14-83 6:40 2-87
22 16-88 7-82 4-07
24 19-32 9-60 5:72

HXS-U-CVLE 18



A 2 m x 2 m square footing is placed at 1-8 m below the ground surface.
The ground water table is at the ground level. The subsoil consists of a
uniform deposit of soft, loose soil. The laboratory test results of the soil

are as follows :
Angle of internal friction, ¢ = 21°
Cohesion, C = 15 kPa
Unit weight of soil, y = 16-5 kN/m?

Determine the allowable load that can be imposed on this square footing

with a factor of safety of 3. 15

Given :
¢ Ne Ng Ny
10 8-34 2-47 0-37
12 9-28 2-97 0-60
14 10-37 3-59 0-92
16 11-63 4-34 1-37
18 13-10 526 2-00
20 14-83 6-40 2-87
22 16-88 7-82 4-07
24 19-32 9-60 572
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(©  4m frl f TE ggmfad o aw o Rl % wer § 450 kN W
T foirg W FET Al B | 9 IREq: AT § | 39 YR I 98T B %
feTu ISMB 400 9f=a it 3ugehar i 9 HIfe | 3fe a8 srgefera arn 2, @
W gt s % fou sifafs et wie yem ek sEe g stfieem
$IT | afese it guea aF <if | 3o %1 U2 E 250 & | Eia sm@een
fafer =1 3w Hifs |
ISMB 400 % 9i=ag & Tured

A = 7840 mm?2

bg = 140 mm

te=16 mm

ty = 89 mm

Zp, = 1176-18 x 103 mm3
Ze, = 1020 x 103 mm3

A simply supported steel beam of span 4 m carries a factored point load
of 450 kN at its mid span. The beam is laterally supported. Check the
adequacy of ISMB 400 section to carry this load. If it becomes unsafe,
re-design it by providing extra cover plate to make it safe. Assume the
section is plastic. Grade of steel is E 250. Use limit state method. 20
Section properties of ISMB 400 : '

A = 7840 mm?

bg =140 mm

tr=16 mm

tw =89 mm

Zp, = 1176:18 x 103 mm3

Ze, = 1020 x 103 mm3
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Q8. (a) TH 300 mm 54T I Shshlc TYUT 1 12 m Y HATAMYG A3 o 1Y HEAq
= & e a # e A R | gey sreerd fom # g wE | i 9w S
7t firem ofit T % Sfew et § i et a1 se nfdd TE R |
Yed: Ued gel g 1 O (k) = 0-95, tan § = 0-45 3R ¢ = 38° % fe1

YR &HAT U, N, = 80.
L& U 2 % 1Y T ht nefi awar w1 fator R | Tepn B shifde
TEUE <! T 3 A HT 20 AT o S TH A |

A NN PO N
qeg uet | T e
y = 20-1 kN/m3
12m
o = 38°
k=095
X |

A 300 mm diameter concrete pile is to be driven into a medium dense to

dense sand with an embedded length of 12 m. The soil conditions are

shown in the figure. No ground water was encountered and the ground

water table is not expected to rise during the life of the structure.

Given : The coefficient lateral earth pressure (k) = 0-95, tan d = 0-45 and
for ¢ = 38° bearing capacity factor, Ny = 80.

Determine the pile’s axial capacity with a factor of safety of 2. Assume

critical depth of the pile is equal to 20 times the diameter of the pile. 15
u
A AN Ve H
Medium dense to dense sand
y = 20-1 kN/m3
12 m o = 38°
k =0-95
&) 8 L]
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(b)

(c)

200 ARH1.0H. S =11 § JUH HH T T Uood b 240 m H @Al |,
80% TWI & W, 5520 kW fth 39 Hdl & | Uheh TICET0, Teheh WITRh
3N Teheh =T HA HIf | gfeefi Tories 1 0-46 WM e | T g § st

TS W =1 A 150 m @ IR STt 2, @ 36 geiedr © e, wike
3R =T F1a HIfdT |

A Pelton wheel develops 5520 kW power under a head of 240 m at an
overall efficiency of 80% when revolving at a speed of 200 rpm. Find the
unit discharge, unit power and unit speed. Assume peripheral coefficient
as 0-46. If the head on the same turbine falls during summer season to

150 m, find the discharge, power and speed at this head.

T 1 m wfl @Raefl AR Bl 400 N-m & Uh So-3AT01 1 HERO HET 2 |
UG IS ® fhe & % o S92 %1 9@ =™ 25 mm @91 TR |
A% o 3 BRI 1 A0 T 0-375 eT % difi 2 | A W ar TrmefEm
fzreng =1 Ygfufem # w9 w1 wwdt ¥ | A ol § R mu stes w
ST Tk AT | TG okl A%e o fiehan staRes B & fufor finf
% fehean T hifse, & ser-smept % gemo & o 3w e s o |

ATEUV gy | SATUeRaH STET y ()
e SIRC P
G (GPa) Tagaa (MP2) | (Mg/m3)
Zrsefm fasurg 36 450 44
Uit 28 150 2:8
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A 1 m long hollow shaft is to transmit a torque of 400 N-m. The outer
diameter of the shaft must be 25 mm to fit existing attachments. The
relative rotation of the two ends of the shaft is limited to 0-375 rad. The
shaft can be made of either titanium alloy or aluminium. Using the data

given in the table below, determine the maximum inner radius to the
nearest millimeter of the lightest shaft that can be used for transmitting

20

the torque.
Méteﬁal Shear Modulus Maximum Shear v (density)
G (GPa) Stress Ty (MPa) (Mg/m?3)
Titanium alloy 36 450 4-4
Aluminium 28 150 9.8
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